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m
0

| &

a imi
of & o & & 0l

Jp
M

N
o

o
=2
>
12
0l
Poh

Mg AIAIE VA=

- W LHEED| (20 Ol &)
2,827,000 x4CH

- HAb Belol &xl
50,0002 x20H

- A3l PY
400,000 x 1K = 400

11,308

1,000

2

300,0002x 174 = 300
(¢]

500, 0002 x 174 = 500
g

500, 0002 x 174 = 500
A

150, 0002 x2JH = 300
A

11,0002 x67H = 666

- QIFA OO AKX

150, 000 & x3 4 = 450

(@)
o
o
o
D
<
«©
o
=
1]

1,350
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AU AY|  2:(1200) L EHEH A Y| &t (1240) REXI & & Mgt (1241)8 ™ 2te| HIAIEL: (220) XEMIAFS (&l &3]
N ol A o ’! & u o = p] ES
MIEEAIAIE =2 u & A4 5 A &
320, 0003 x24 = 640
- 3log =Rt
200,000& x32H4 = 6,400
- 3o Y Xt
140,000& x4 H = 560
- 3lag AX
30,000& x 1004 = 3,000
- sloja Ay
300,000& x2CH = 600
- UHESALNH(Z)
250,000& x4 4 = 1,000
- gEe ALAH(2U)
80,0002 x47H = 320
- gEg um
2,000,0002 x 174 = 2,000
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